ERRAROHRBERT—I—ZBISH—F
I 2021YJSFRKH (PREFHE SR

[AE%] 17%&:1,800,000  ~ 23&:720,000 37&:450,000 435:270,000 @ . 5 3&:180,000 M

20215128278 (B) 15mKH28
‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 1800 7m

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= » [EEE3 :58. -9-10~ . - EEAE (KH)
SAHTwE— B3 Ba 1(5&3)5 10-9-10-8 | 39.4 5 (4_867) TeLs
R:AN/UFv—R #:F—v3A A4

N Jiisrayic :58. -6-5- . - WMEFR (KH)
AWTTYLA1 5% Gy | T |00 PG |
R:IVHh—0 B:94FYLA2 BRAM EINU—h—RSUF
< EFEAER :58. -7-2- . - wWEee (KFH)
Ry =AY 3 ES o R 1 ?922) xR
Ry d—=9)VYIT B:Ryd—J7—)b [S1ate]

—_ sV A [~ FEEN : -8-7- - EEBRIR (KH)
PY=YUT PR Y 43 BEn (11518/28) 8-8-7-7 | 40.0 7 (5_53 el
RiTJT/—=X/ B:VYIZUvaglb SRS

== P =15EE :59. -13-11- . - EEAE (KH)
TILSF 4+ v 5 o 1 (519) 0 13-13-11-11] 39.7 11 (4_642) iy
KR:O—RAp+rO7 #B:SU—-XV (\) #B81-RL—yavEEI7

w— = s 4 | ABEFES 1:59.4 16-16-15-14| 39.9 | — 3 44 | EEF0ME (KH)
HZaAXFRUA 5.0 o (o |EtiEeE
RANTT—II BINVRSEUVR ARAIWT7—L
~9Su 3 | AEXA 1:59.6 12-12-6-5 | 41.1] — 10 | 486 |7EBAIE OKH)
71510 FUVISvT " 56.0 (1 1/4) (-5) BHE
R:AILR B:aARENYY IV R AIX
— 73,5 % 3 | AEEH 1:59.6 15-15-14-13| 40.1 | — 4 | 459 |N\EFETRE (I
87|13 IREF=7VT 56.0 N\F) © (mofc
R:O=ILRYY T B:RARTLET vy RI7—L4
~ 4 3 | WWEHE 2:00.0 6-4-3-3 |41.9| - 6 448 | FEAE (KH)
9|81 1T/ 5ZFXT %.0 @ Gy | ® Fr-Zbevay
RiR—HANR B:I9VYRFaFy Tt BE
= N _ B3 | BEER 2:00.1 3-2-4-6 | 41.8| — 2 | 489 |BEE (KH)
100111 | TAINAR =14 56.0 (/2) 1) A=A
RiFRXF B:IY—0zL /=Y Tr—1I
- 33 | MEEY 2:00.1 11-11-12-12| 40.7 | — 9 495 | CEEEZ (KH)
1 4| 3FY3—9 56.0 7E) (2) | PH=EB
R:F4—=TRAh4A4 B:V—RJTOUFPR SH B
=~ o " BEHRU :00. -3-1- . - HinEe (KH)
15l g | F=FvREUYY 3 3 RERD 2(10/02)2 2-3-1-2 | 42.2 14 (i‘;) EEE!E.EEE
R:PAINTT7FH— B:SALANhYYa HEI77—LA
— 4 4 | KEFBH 2:00.3 13-14-16-14| 40.6 | — 12 | 423 |EFBE &)
Eﬂ 7| R=TFL =R 56.0 (/2) (3 |EHER
RNATVIRSAY B:T7FVIY FUFYT7—L
= 4S8 5 — 4 3 | ®FETR 2:00.5 9-10-12-10 | 41.1| — 15 | 517 |REZRE KH)
141714/ 72vFYa—h 56.0 (3/4) ) |EHER
Rib—EyYa—9Y BITFTAPIIUR Fetie
= JGRX(Z :01. -5-8- . - FHERE (KH)
15 3| Fr—LT+5vT 8 5 R (23011/22) 4-5-8-9 | 42.3 13 (4_658) aore
RNV vH—L B:Fv—IVIF—5 "HET7—L4
= o~ 3 | FEEAED 2:02.0 1-1-9-16 [42.9| — | 16 | 453 |WLEEE (KH)
16/ 1] 2 | AT A—ILX RV F 4 54.0 ) 1 |NERE
RiALYISvIEIL B:O0-SVFA45= piie] = ek
@ 11— —BBIEfI
13—7— 2,9,1,3,12,16,5,15,14,8,4,10, (6,7) ,13,11
20—F— 2,1,9,16,3,12,5,15,8,14,4,10,6,7,13,11
Sal=zr= 9,5,16,1,12,10,15,3,2,8,6, (4,14) ,13,11,7
43— — 5,9,(12,16),10,1,15,8,3,14,6,4,13, (7,11) ,2
o ILRE
B B 8 2,040 JA R 8-12 2,870H % 5E 4-6 3,850 3EE 5-8-12 4,280
7B B 8 220/ 5-8 320/ B 4-6 9,790 3EH 8-12-5 125,750
12 450/ 5-12 680M3 F5 E 8-12 20,230
5 110 =51 8-12 47,670

ABIC OV TRUTEREERRODDZE. THRIIZEL.




